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Write a rule for the line that contains the points (0, %) and (2 %, 3 %).

a. Identify 2 more points on this line. Draw the line on the grid below.

Point [ x |y | (xy)
B

5
C
b. Write a rule for a line that is a4
parallel to BC and goes
through point (1, %).
3
Create a rule for the line that 2
contains the points (1, 1—) and (3, %).
a. Identify 2 more points on this 1
line. Draw the line on the grid
on the right.
Point [ x |y | (xy) 0 1 2 3
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b. Write a rule for a line that passes through the origin and lies between BC and GH.




